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Q.1 Y& IR 31 Hi - raT FRot
Ans X 1. Q@M ME Y8l gl Siero)
X 2. I IS gehefaehs ey
X 3. Q=T 7R YTET ROy
w4, AEHATS] faarvar s dieraor

Question Type :
Question ID :
Option 11D :
Option2 1D :

Option 3 ID
Option 4 ID
Status

McCQ
630680330458
6306801285501
6306801285504

: 6306801285502
: 6306801285503
: Answered
Chosen Option :
Marks :

4
2

Q.2 ydie wguftar sref @i - @rdq &= quish, Ardiar suraf.
Ans X 1. IUTH SRR AR Sro

W 2. 3T TMTE 7 AosTeaTd, IHEidr 7 T, a1 S¥cted] METS! 3rg a9ut

X 3. YRQX U @t
75 4. U 9y smasy

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680330457
6306801285499
6306801285498
6306801285497
6306801285500
Answered

2

2

Q.3 YEI TR hIUTAT ITeRITE SRIsR ATUReT T8 ?- G ot
Ans X 1. ST Y ggepier dara s eikg e
W 2. ST SRIYS fehelig! 21 Shefrd, TR Hi TR IUSUIR ATg!
X 3. ST} FeRed T Qg .
X 4. 9T STelt § haTd WU @ aikg et

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680330460
6306801285511
6306801285512
6306801285509
6306801285510
Answered

2

2




Q.4 TRt 2Tz @ - arRAEfo

Ans X 1.f@g
2
X 3.d9g
X 4.
Question Type : MCQ
Question ID : 630680330449
Option 11D : 6306801285465
Option 2 ID : 6306801285467
Option 31D : 6306801285468
Option 4 1D : 6306801285466
Status : Answered
Chosen Option: 3
Marks : 0
Q.5 ITRITET UehR ST, aTg Rf=ar SA-g- Trere mmT e,
Ans X 1. usmeff
X 2. gt
o ERCUICIRi
X 4. Sgrrdt
Question Type : MCQ
Question ID : 630680330442
Option 11D : 6306801285438
Option 2 ID : 6306801285440
Option 31D : 6306801285439
Option 4 1D : 6306801285437
Status : Answered
Chosen Option: 3
Marks : 2
Q.6 T Iy faug &1 - AwufafAsf
Ans X 1. drimed ufafaedt
X 2. cAiiardt ufafadt
X 3. dAreptamTar ufafedt
w4, teptar ufafaed
Question Type : MCQ
Question ID : 630680330454
Option 11D : 6306801285488
Option 2 ID : 6306801285486
Option 31D : 6306801285487
Option 4 1D : 6306801285485
Status : Answered
Chosen Option : 4
Marks : 2




Q.7 uEN AT — ARATAA S 7«1 f=mRa.
Ans X 1. 31t Pt

X 2. prfof}
W 3. e
X A gFHHE HF
Question Type : MCQ
Question ID : 630680330448
Option 11D : 6306801285461
Option 2 1D : 6306801285463
Option 3 ID : 6306801285464
Option 4 ID : 6306801285462
Status : Answered
Chosen Option: 3
Marks : 2
Q.8 Y& R avyg 3rf fAgeT - HeheiHn dis 3ot
Ans o 1. TheTIT TEAT 0T
< 2. YU gE Uesur
#< 3. TeheT STHOT 30
X 4. Tepe QUIR AT T ShedSi SOt
Question Type : MCQ
Question ID : 630680330456
Option 11D : 6306801285495
Option 2 ID : 6306801285494
Option 3 ID : 6306801285493
Option 4 ID : 6306801285496
Status : Answered
Chosen Option: 1
Marks : 2
Q.9 Y& AT Al 31 | - R
Ans X 1.gR
X 2.9
X3g
o 4. B0
Question Type : MCQ
Question ID : 630680330463
Option 1 ID : 6306801285524
Option 2 ID : 6306801285521
Option 3 ID : 6306801285523
Option 4 ID : 6306801285522
Status : Answered
Chosen Option : 4
Marks : 2




Q.10 Y& Yeaehrd! T aRaehrt Sl Syeat - IuRT

Ans X 1.3THEg gy
o 2. &0 A
X 3. fhRE R
X 4. UER
Question Type : MCQ
Question ID : 630680330464
Option 11D : 6306801285528
Option 2 ID : 6306801285527
Option 3 1D : 6306801285526
Option 4 ID : 6306801285525
Status : Answered
Chosen Option : 2
Marks : 2
Q.11 fa7 U<, BT AT MeAia™e fheadt. géier regran fawgreff eree Repma sl R -
HeIgH
Ans o 1 wEREd
X 275
X 3. T
X 475
Question Type : MCQ
Question ID : 630680330452
Option 11D : 6306801285479
Option 2 ID : 6306801285478
Option 3 1D : 6306801285480
Option 4 ID : 6306801285477
Status : Answered
Chosen Option : 1
Marks : 2
Q.12 =regrar o1 @i m - fay
Ans X 1.fagR
W 2.9z
X 3.gx
X 4 fadhy
Question Type : MCQ
Question ID : 630680330446
Option 11D : 6306801285454
Option 2 ID : 6306801285455
Option 3 1D : 6306801285456
Option 4 1D : 6306801285453
Status : Answered
Chosen Option : 1

Marks :

0




Q.13 Y& rsaran aig i Tim- Mre
Ans X 1.7O%

W 2. TduTSad
X 3.t
X 4. ER
Question Type : MCQ
Question ID : 630680330462
Option 11D : 6306801285517
Option 2 ID : 6306801285520
Option 31D : 6306801285518
Option 4 ID : 6306801285519
Status : Answered
Chosen Option : 2
Marks : 2
Q.14 Y& g had areRived ag ST aTue+T Hg+h IR’ aaR e,
A Het STl gRile srard. ot oig Suard aveT sraTd.
Ans X 1.%US
X 2. ®RoT
o 3. B
X A
Question Type : MCQ
Question ID : 630680330443
Option 1 ID : 6306801285441
Option 2 ID : 6306801285443
Option 31D : 6306801285442
Option 41D : 6306801285444
Status : Answered
Chosen Option: 3
Marks : 2
Q.15 2regrar aref @i - Rt
Ans X 1.8
o 2.3
X 3=
X 4%
Question Type : MCQ
Question ID : 630680330445
Option 1 ID : 6306801285449
Option 2 ID : 6306801285452
Option 31D : 6306801285450
Option 41D : 6306801285451
Status : Answered
Chosen Option : 2
Marks : 2




Q.16 Y& ATRTER HIUTT aTeRITd SRISR aTaReT STg? - AR Siehot
Ans o 1. IR AMUTITHATS! AT AT AR Stehel.

2 2. JETET STY HeATH TS J HIVITEATE! Sieh Aehd 4 ST ATe

X 3. IR TWUTOTT ST AT Sl dhreet

X A M I g

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680330459
6306801285505
6306801285507
6306801285506
6306801285508
Answered

1

2

Q.17 arery Ryerneff &, - &1 g1 &a gean sima !
Ans X 1. JSAT ST GShas 8T8 S3HTad H1?

X 2. AT ST ST 8T€ A6l

X 3. T ST has BTIE STTed ahr?

o 4. T ST QS BTE SMTed

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680330444
6306801285448
6306801285446
6306801285447
6306801285445
Answered

4

2

Q.18 fawgrff ereg & - guor
Ans X 1.fa

o 2. 55l

X 3. g

X 4. sqor

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680330451
6306801285476
6306801285473
6306801285475
6306801285474
Answered

2

2




Q.19 Y& AT ATRITAT HIVTAT AT SRR 3HT? - HSH
Ans X 1. TBYSAT SREAAR SATdT HBH ST

X 2. difofaar smeriema dgraftadt HeseT S,
X 3. FUSHIaR A JATeld. HUS Yardal gad
w4 TS YhTeUTY STThIIT HSSH SHTeig

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status:

Chosen Option :

Marks :

McQ
630680330461
6306801285515
6306801285516
6306801285513
6306801285514
Answered

4

2

Q.20 YT 3T — MTETAT TRH urof} 33 Afehi IR @rTd .

Ans X 1.7 el
X 2. &k
X 3.9
W 4. il

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680330447
6306801285459
6306801285457
6306801285460
6306801285458
Answered

4

2

Q.21 Y& S hivrd e fafget simg? - orshia dard
Ans X 1. ufga

W 2. Tt
X 3. gardh
X 4. st

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680330465
6306801285532
6306801285530
6306801285531
6306801285529
Answered

2

2




Q.22 ' unfifer ' o rsgTaT AT 2reg @i .

Ans X 1. s
W 2. renfifen
25 3. srent
X 4 @
Question Type : MCQ
Question ID : 630680330453
Option 11D : 6306801285484
Option 2 ID : 6306801285483
Option 3 1D : 6306801285482
Option 4 ID : 6306801285481
Status : Answered
Chosen Option : 2
Marks : 2
Q.23 g & g i fafgst emg
Ans X 1.3 9 @idw
X 2. g uréle
W 3. STad hd
X 4. Rarsft grda
Question Type : MCQ
Question ID : 630680330466
Option 11D : 6306801285533
Option 2 ID : 6306801285534
Option 3 1D : 6306801285536
Option 4 1D : 6306801285535
Status : Answered
Chosen Option : 1
Marks : 0
Q.24 9N 3HisEl- e
Ans o 1. SrediE
X 2. piuRg
< 3. agey
X 4. gt
Question Type : MCQ
Question ID : 630680330455
Option 1 ID : 6306801285489
Option 2 ID : 6306801285492
Option 31D : 6306801285491
Option 4 1D : 6306801285490
Status : Answered
Chosen Option : 4
Marks : 0




Q.25 &1 9uETAT 21eE hIUTT 22T JTR? - Ulass
Ans X 1.4

o 2. U
X 3.
7 4
Question Type : MCQ
Question ID : 630680330450
Option 11D : 6306801285472
Option 2 ID : 6306801285470
Option 31D : 6306801285471
Option 4 1D : 6306801285469
Status : Answered
Chosen Option : 2
Marks : 2
Section : English Language
Q.1 Select the option that expresses the given sentence in active voice.
Her dictionary has been stolen.
Ans X 1.Nobody has stolen her dictionary.
< 2. Anybody had stolen her dictionary.
/X 3. Somebody had stolen her dictionary.
% 4. Somebody has stolen her dictionary.
Question Type : MCQ
Question ID : 630680270767
Option 11D : 6306801052256
Option 2 ID : 6306801052257
Option 31D : 6306801052255
Option 4 ID : 6306801052254
Status : Answered
Chosen Option: 3
Marks : 0
Q.2 Select the most appropriate adjective to fill in the blank.
I have books than he.
Ans X 1. lesser
o 2. fewer
5 3. less
X 4. few
Question Type : MCQ
Question ID : 630680270823
Option 11D : 6306801052479
Option 2 1D : 6306801052481
Option 31D : 6306801052478
Option 4 1D : 6306801052480
Status : Answered
Chosen Option : 2
Marks : 2




Q.3 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

We should / be grateful for / our parents for / all their love and support.
Ans X 1. We should

25 2. our parents for
/< 3. all their love and support
## 4. be grateful for

Question Type :
: 630680252140
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

Question ID

McCQ

630680978539
630680978541
630680978542
630680978540
Answered

4

2

Q.4 The given sentence is missing punctuation. Choose the option with the correct placement

of punctuation marks to make this a meaningful sentence.

Think of it like this what would life be without surprises
Ans 4 1. Think of it like this—what would life be without surprises?

< 2. Think of it like this “what would life be without surprises.”
#5 3. Think of it like this: what would life be without surprises.

< 4. Think of it like this; what would life be without surprises?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680270789
6306801052342
6306801052345
6306801052343
6306801052344
Answered

2

0




Q.5 In the following sentence, four words are underlined, of which one is incorrectly spelt.

Identify the INCORRECTLY spelt word.

This indeared him to their hearts immediately, for even the mildest of us loves to think that

he has a forbidding exterior.

Ans X 1.mildest
o 2. indeared
< 3. immediately
X 4. exterior
Question Type : MCQ
Question ID : 630680270785
Option 11D : 6306801052328
Option 2 ID : 6306801052326
Option 31D : 6306801052327
Option 4 1D : 6306801052329
Status : Answered
Chosen Option : 2
Marks : 2
Q.6 Select the most appropriate meaning of the given idiom.
Rain check
Ans X 1.Giving a waterproof cheque to somebody
w#" 2. A promise to make an offer available some other time
25 3. Checking something in rainy weather
/X 4. Checking if it rains
Question Type : MCQ
Question ID : 630680280578
Option 11D : 6306801090550
Option 2 ID : 6306801090547
Option 31D : 6306801090549
Option 4 1D : 6306801090548
Status : Answered
Chosen Option : 2
Marks : 2
Q.7 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
1 / look forward to see / my friends / soon.
Ans X 1.my friends
< 2.soon
4 3. look forward to see
X 4.1
Question Type : MCQ
Question ID : 630680270781
Option 11D : 6306801052312
Option 2 1D : 6306801052313
Option 31D : 6306801052311
Option 4 1D : 6306801052310
Status : Answered
Chosen Option : 4
Marks : 0




Q.8 Select the most appropriate synonym of the given word.

Ordeal
Ans " 1. Anguish

/< 2. Confusion

5 3. Peace
X 4. Health
Question Type : MCQ
Question ID : 630680274323
Option 11D : 6306801065806
Option 2 ID : 6306801065804
Option 3 1D : 6306801065805
Option 4 1D : 6306801065803
Status : Answered
Chosen Option : 1
Marks : 2
Q.9 Select the most appropriate meaning of the given idiom.
Beat around the bush.
Ans X 1. Discussion without having any conclusion
/5 2. Discuss important things for hours
/< 3. Discuss unimportant matters for hours
## 4. Discuss about a matter without coming to the point
Question Type : MCQ
Question ID : 630680274302
Option 11D : 6306801065722
Option 2 1D : 6306801065720
Option 31D : 6306801065719
Option 4 1D : 6306801065721
Status : Answered
Chosen Option : 1
Marks : 0
Q.10 Select the option that correctly rectifies the spelling error in the given sentence.
Employees were assigned to make sure people did not overcrowd the escalaters.
Ans X 1.Employes
o 2. escalators
/X 3. assighned
< 4. overcrowed
Question Type : MCQ
Question ID : 630680274571
Option 11D : 6306801066795
Option 2 1D : 6306801066798
Option 31D : 6306801066796
Option 4 1D : 6306801066797
Status : Answered
Chosen Option : 2
Marks : 2




Q.11 Select the most appropriate ANTONYM of the underlined word.
The student remained indifferent to the teacher's lecture, showing no interest in the subject.

Ans X 1.nonchalant
¥ 2. caring
#< 3. apathetic
#< 4. unconventional
Question Type : MCQ
Question ID : 630680277937
Option 11D : 6306801080108
Option 2 ID : 6306801080105
Option 3 ID : 6306801080106
Option 4 ID : 6306801080107
Status : Answered
Chosen Option: 3
Marks : 0
Q.12 Select the most appropriate punctuation mark to fill in the blank.
The renowned author delivered an inspiring speech, captivating the audience
Ans X 1.,
X 2.1
X 3.?
o
Question Type : MCQ
Question ID : 630680252139
Option 11D : 630680978536
Option 2 1D : 630680978537
Option 31D : 630680978538
Option 4 ID : 630680978535
Status : Answered
Chosen Option : 4
Marks : 2
Q.13 Select the most appropriate article to fill in the blank. If no article is required, select ‘No
article’.
He was one of few blind people who smoke.
Ans X 1.a
X 2.an
" 3. the
X 4. No article
Question Type : MCQ
Question ID : 630680279145
Option 11D : 6306801084857
Option 2 ID : 6306801084858
Option 3 ID : 6306801084859
Option 4 1D : 6306801084860
Status : Answered
Chosen Option: 3
Marks : 2




Q.14 Select the most appropriate option to fill in the blank.

He has not started
Ans X 1.still

< 2.much
o 3. yet

X 4. very much

Question Type : MCQ
Question ID : 630680274332
Option 11D : 6306801065839
Option 2 1D : 6306801065841
Option 3 1D : 6306801065840
Option 4 1D : 6306801065842
Status : Answered
Chosen Option: 3
Marks : 2
Q.15 Complete the following sentence with the future tense form according to the situation given
in the bracket.
(Shameem started to learn Spanish when he was 27. He is still learning Spanish).
When he’s 40 he
Ans 4 1. will have been learning Spanish for 13 years
#5 2. would learn Spanish for 13 years
#5 3. will learnt Spanish for 13 years
< 4. will have learned Spanish for 13 years
Question Type : MCQ
Question ID : 630680274716
Option 1 ID : 6306801067377
Option 2 ID : 6306801067376
Option 31D : 6306801067375
Option 4 1D : 6306801067378
Status : Answered
Chosen Option : 4
Marks : 0
Q.16 Select the option that expresses the given sentence in active voice.
He was appointed as the head boy by the principal.
Ans X 1.The principal had been appointed him as the head boy.
o 2. The principal appointed him as the head boy.
/X 3. The principal has appointed him as the head boy.
75 4. The principal had appointed him as the head boy.
Question Type : MCQ
Question ID : 630680270770
Option 11D : 6306801052268
Option 2 1D : 6306801052269
Option 31D : 6306801052267
Option 4 ID : 6306801052266
Status : Answered
Chosen Option: 3
Marks : 0




Q.17 Select the most appropriate articles to fill in the blanks.

The children are going on trip to London next month on school exchange
programme.
Ans 1.3 a
X 2.an;a
X 3.an;an
X 4.aan
Question Type : MCQ
Question ID : 630680270810
Option 11D : 6306801052426
Option 2 ID : 6306801052427
Option 3 ID : 6306801052429
Option 4 ID : 6306801052428
Status : Answered
Chosen Option : 1
Marks : 2
Q.18 Select the most appropriate question tag to fill in the blank.
Sandy and Vandy have not arrived yet, ?
Ans X 1.haven't they
o 2. have they
25 3. had they
X 4. are they
Question Type : MCQ
Question ID : 630680274256
Option 11D : 6306801065537
Option 2 ID : 6306801065536
Option 31D : 6306801065538
Option 4 ID : 6306801065535
Status : Answered
Chosen Option : 2
Marks : 2
Q.19 Select the most appropriate synonym of the given word.
Shatter
Ans X 1.Govern
X 2. Extract
## 3. Destroy
X 4. Assert
Question Type : MCQ
Question ID : 630680274596
Option 11D : 6306801066896
Option 2 ID : 6306801066898
Option 3 ID : 6306801066897
Option 4 1D : 6306801066895
Status : Answered
Chosen Option : 4
Marks : 0




Q.20 Select the most appropriate question tag to fill in the blank.

| used to wake up early in the morning,
Ans X 1.usedn'tl?

< 2. haven't1?
o 3. didn't 1?
X 4. won'tI?
Question Type : MCQ
Question ID : 630680252083
Option 11D : 630680978314
Option 2 1D : 630680978313
Option 3 ID : 630680978311
Option 4 1D : 630680978312
Status : Answered
Chosen Option: 3
Marks : 2
Q.21 Parts of the following sentence have been given as options. Select the option that contains
an error.
By the end of the year, | will be working in the finance department for 25 years in this
company.
Ans X 1. By the end of the year
/5 2. for 25 years in this company
%" 3. | will be working
/< 4.in the finance department
Question Type : MCQ
Question ID : 630680274263
Option 1 ID : 6306801065563
Option 2 1D : 6306801065566
Option 31D : 6306801065564
Option 4 ID : 6306801065565
Status : Answered
Chosen Option : 3
Marks : 2
Q.22 Select the most appropriate preposition to fill in the blank.
Ram is prepared anything.
Ans X 1.from
o 2. for
X 3.0of
X 4. by
Question Type : MCQ
Question ID : 630680270771
Option 11D : 6306801052272
Option 2 ID : 6306801052271
Option 31D : 6306801052270
Option 4 1D : 6306801052273
Status : Answered
Chosen Option : 2
Marks : 2




Q.23 Select the most appropriate verbs to fill in the blanks.

He about it for a while and that it

Ans X 1.thought; realise; has
o 2. thought; realised; was
#< 3. thinking; realising; had been
/X 4. being thought of; realising; had been

actually a dream.

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270808
6306801052421
6306801052419
6306801052418
6306801052420
Answered

2

2

Q.24 Select the most appropriate option with the future tense form according to the situation

given in brackets to fill in the blank.

(I'm going to paint the front door today; I'll finish it before you get back)

When you get back, |

Ans X 1.would have painted the front door
o 2. will have painted the front door
25 3. will be painting the front door
/< 4. painted the front door

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680252884
630680981515
630680981516
630680981517
630680981518
Answered

2

2




Q.25 Select the most appropriate proverb for the given statement.
Someone who is apparently in poor health may well outlive the ostensibly stronger.

Ans & 1. A creaking gate hangs longest.
5 2. Let sleeping dogs lie.
/< 3. Cross the stream where it is shallowest.

#< 4. The road to hell is paved with good intentions.

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680277594
6306801078805
6306801078807
6306801078806
6306801078808
Answered

1

2

Section : General Knowledge

Q.1 e T WRATH v g TS argd?
w1 ST 3O e

X 2. sieHT anfor fAeptaR 3¢
X 3. wergla
X 4 gl

Ans

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680268949
6306801045106
6306801045103
6306801045105
6306801045104
Answered

1

2

Q.2 WIS §Ye Rgrdas g orf wivr sma?
W 1. TTUTRICT ST YRaot

< 2. SeTaR ufehar swvotr

75 3. TTUTEhTERE ST UTT ot

X 4. dferdarét Sa dufed ot

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275384
6306801070048
6306801070050
6306801070047
6306801070049
Answered

1

2




Q.3 @refierd<hr woren YR fohdheugar fawdr sre=ah (Wisden Almanack) =ar 2023 =1
ST, ‘+fifET =déi-20 fohdher Sifth g FaR' 8T 9= agTe Shell TeT?

Ans X 1. A e
o 2. QAR area
X 3., qdt. g
< 4. Afga amf
Question Type : MCQ
Question ID : 630680276086
Option 11D : 6306801072856
Option 2 ID : 6306801072855
Option 31D : 6306801072858
Option 4 1D : 6306801072857
Status : Answered
Chosen Option : 4
Marks : 0
Q.4 ""ear UhIer (T UehIRN) & WiciieTdehl hivTeT THTST R Halape el 3Tg?
Ans X 1.3aRde R
X 2. @t fAdere
X 3. AR RAEH
W 4. Tl ZaTE TRt
Question Type : MCQ
Question ID : 630680275709
Option 11D : 6306801071348
Option 21D : 6306801071349
Option 3 1D : 6306801071350
Option 4 1D : 6306801071347
Status : Answered
Chosen Option : 1
Marks : 0

Q.5 aheetTE (Kallanai,)'ifs FTEeRe’(Grand Anicut) Vgl siies@et SITd 3G & WRET aieret

et ufget eRoT gla. WrefieTdehl ST AEleR & SRUT JiYvard 3Tt gia?
25 1. et

X 2. 5w

X 3.7grdl

w4, T

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275438
6306801070264
6306801070265
6306801070266
6306801070263
Answered

4

2




Q.6 VR ISTHEAT TAYH helcd vt aiff aanfae swvara smeft?

Ans o 1.1976
X 2.1978
X 3.1975
X 4.1977

Question Type :
Question ID :

: 6306801074604
Option 21D :
: 6306801074603
: 6306801074605
Status:

Chosen Option :
Marks :

Option 11D

Option 31D
Option 4 ID

McCQ
630680276527

6306801074606

Answered

4
0

Q.7 wrog Arfgeh srrgehia SifdeR aTfoY i @refierd<hY vt smga?
a) SITANT groTell RV hIUTaTE! Ueho=h =ienft aes 2rehal.
(b) =er2ft gz, ST Raroft <mareamar sifder sret.

(c) TETen ashrii<an Tiheft &3, g1 ST Ardsifeh TfdehRomean arsard SeieaT hivTag!

arfgd=h quracft == e .

(d) &1 ST gehR Sifderr=ifaveg A= Rard fAwRY & erehat.

Ans X 1.abeanforc

X 2.a,canford
< 3.b,canford
w4 ab anford
Question Type : MCQ
Question ID : 630680275207
Option 1 ID : 6306801069340
Option 2 ID : 6306801069341
Option 3 ID : 6306801069339
Option 4 ID : 6306801069342
Status : Answered
Chosen Option : 4
Marks : 2
Q.8 1% 2016 it dauur g Al giear gt q ‘gt Iseae aeET (‘PMUY’) 9
HRUYT 3T,
Ans X 1.9gRIE
25 2. R
X 3. TR
W 4. IR
Question Type : MCQ
Question ID : 630680275479
Option 11D : 6306801070430
Option 2 ID : 6306801070428
Option 3 ID : 6306801070429
Option 4 ID : 6306801070427
Status : Answered
Chosen Option : 1
Marks : 0




Q.9 afdeArg @
Ans o 1. WIS SR

oft Teifda wrreT vRga RO ufget WRedT I og.

X 2. yEER
X 3.@m=
75 4. Zugh 9o
Question Type : MCQ
Question ID : 630680275189
Option 11D : 6306801069270
Option 2 ID : 6306801069267
Option 31D : 6306801069268
Option 4 1D : 6306801069269
Status : Answered
Chosen Option : 1
Marks : 2
Q.10 WRATdI "afd A usft sraRvy @refierddl Hivr ma?
Ans o 1. AT Ueft STTIRTY
25 2. Rqmft R ueht sraRug
X 3. G uelt SR
75 4. Figg AegRsR Uelt S1vaRvg
Question Type : MCQ
Question ID : 630680275443
Option 11D : 6306801070284
Option 2 ID : 6306801070286
Option 3 1D : 6306801070285
Option 4 1D : 6306801070283
Status : Answered
Chosen Option : 1
Marks : 2
Q.11 g o wide g sam™ YRarde wivrar TsaTT mg?
Ans o1 STES
X 2. A R
X 3. mErRIE
X 4. maH
Question Type : MCQ
Question ID : 630680268951
Option 1 ID : 6306801045112
Option 2 ID : 6306801045113
Option 31D : 6306801045114
Option 4 1D : 6306801045111
Status : Answered
Chosen Option : 1
Marks : 2




Q.12 ‘gt eRigR’ ) ior, ‘vumwsf faRad @1 Sad= (‘PM VIKAS') disiar Qe e g faefi
THRUTT ST 31T, S 1 3TfeR auuTg @R g1vTR S < ey faer, fAemor
3Mfor Aqe ufAeoNgR SreuiETh, fItvd: FRAR SaEr shaaw gurvarars: @i

Ans X 1.2021-22
w# 2.2022-23
X 3.2023-24
< 4.2020-21
Question Type : MCQ
Question ID : 630680275471
Option 11D : 6306801070395
Option 2 ID : 6306801070396
Option 3 1D : 6306801070397
Option 4 1D : 6306801070398
Status : Answered
Chosen Option: 3
Marks : 0
Q.13 &g 94T gosadi= RATU-T SrHjaeR 3% e AT gief.
Ans X 1.1877
< 2.1875
X 3.1871
o 4.1873
Question Type : MCQ
Question ID : 630680275712
Option 11D : 6306801071362
Option 2 ID : 6306801071361
Option 3 ID : 6306801071359
Option 4 1D : 6306801071360
Status : Answered
Chosen Option: 3
Marks : 0
Q.14 Hiferma wa gift smeifad=an wivren Tsara Afger snfor afeai=n Sadardt wrf Fe?
Ans X 1. UfgH e
o 2. HgRTE
X 3. afheTg
X A FAfew
Question Type : MCQ
Question ID : 630680275169
Option 11D : 6306801069190
Option 2 ID : 6306801069187
Option 3 1D : 6306801069188
Option 4 ID : 6306801069189
Status : Answered
Chosen Option : 2
Marks : 2




Q.15 Treflerdeh! s/ faum/a MRS arierarereT g smg/smgda?

1) ek fohem S uTeteh YRR ANTRS ST & UTe dhet ST QAehd.

2) g haes ST fhar ATRAIRRUMZR T et ST 2Mhd.
3) Qeh UTeTeh R ARTR 39«0 d T hel S35 2Ahd.
4) SiegT TErE} =R WRATT W= degrd o fResaar 34.

Ans X 1.23nfor4
X 2. % 2
< 3.1 anfor 2
g 4. T 1
Question Type : MCQ
Question ID : 630680276536
Option 11D : 6306801074642
Option 2 ID : 6306801074641
Option 3 ID : 6306801074639
Option 4 ID : 6306801074640
Status : Answered
Chosen Option : 3
Marks : 0
Q.16 B RATHI ufget goie 31 R IURW W1 318,
Ans X 198
X 2. oS
o 3. a
5 4. JEHETG
Question Type : MCQ
Question ID : 630680270590
Option 11D : 6306801051548
Option 2 ID : 6306801051546
Option 3 ID : 6306801051549
Option 4 ID : 6306801051547
Status : Answered
Chosen Option : 4
Marks : 0




Q.17 @R a1 YT e IfeE Five gia?

Ans

A: STifaeaaeieR &t ot
B: afaré} fAeroma g awut
C: QRifgai=ar gaehia HRETuT ot
D: ferdi= gereh ATRRO

o 1. <h A 37T B

< 2. %k B anfor C

< 3. ™k A 3Tfor D

X 4. % A Sfor C

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287113
6306801116361
6306801116362
6306801116360
6306801116359
Answered

1

2

Q.18 42a1 dfaenfAes gemron sifdfas, 1976 R SERAFAA @refierddh Fivrar 2reg Sitar A« AE?

Ans X 1. QAT
o 2. Wi
X 3. effRder
X 4. gETSTard)
Question Type : MCQ
Question ID : 630680270471
Option 11D : 6306801051073
Option 2 ID : 6306801051072
Option 31D : 6306801051071
Option 4 1D : 6306801051070
Status : Answered
Chosen Option: 3
Marks : 0
Q.19 FRift gEiwrd} @refierd<h g Agama smg?
Ans X 1.Sflaa@a K
X 2.
W 3. SfiaTaa A
X A FfREm
Question Type : MCQ
Question ID : 630680270010
Option 11D : 6306801049294
Option 2 ID : 6306801049293
Option 31D : 6306801049292
Option 4 1D : 6306801049291
Status : Answered
Chosen Option: 3
Marks : 2




Q.20 1923 A& WRISY &I TATYAT AT for & T UeT 3remel 3oy Hidiee g @
g s ..
Ans X 1. SERER SRS
o 2. Rs e
/X 3. Saredre A8
X 4 govEs a9
Question Type : MCQ
Question ID : 630680275684
Option 11D : 6306801071249
Option 2 ID : 6306801071250
Option 31D : 6306801071248
Option 4 ID : 6306801071247
Status : Answered
Chosen Option : 2
Marks : 2
Q.21 Which of the following cells contain multiple nuclei?
Ans X 1.Red blood cells
X 2. Platelets
## 3. Muscle cells
X 4. Nerve cells
Question Type : MCQ
Question ID : 630680270015
Option 11D : 6306801049312
Option 2 ID : 6306801049314
Option 3 ID : 6306801049311
Option 4 ID : 6306801049313
Status : Answered
Chosen Option : 4
Marks : 0
Q.22 2023 #efie WRaT=AT G-20 egerugrh fwaasy (theme) TR,
Ans X 1.Te g, Toh Hioss
X 2.9 geeft, O g
W 3. Uk g, Uoh e, Yo Wiasd
X 4. Qe gedt, Ueh e, Toh 1o S1foy Tap Sfta
Question Type : MCQ
Question ID : 630680275416
Option 11D : 6306801070178
Option 2 ID : 6306801070175
Option 3 ID : 6306801070176
Option 4 ID : 6306801070177
Status : Answered
Chosen Option : 2
Marks : 0




Q.23 GeiieTdhl R TASYUREGF SRGRTT ATI0 Sfeare a1 ST g™ IR, ‘URE'

IS G hel?
Ans X 1. 7uTe &4 3
X 2. safasT gt
¥ 3. 7TUTGS TOIRT SRR
X 4. T g
Question Type : MCQ
Question ID : 630680275824
Option 11D : 6306801071810
Option 2 ID : 6306801071809
Option 31D : 6306801071808
Option 4 1D : 6306801071807
Status : Answered
Chosen Option : 2
Marks : 0
Q.24 NaHCO3 & 99T W UTRERTd TEUH ITuRe ST,
Ans X 1. 4ugTEl §iE
X 2. g EET
< 3. i S e
o 4. Ak e
Question Type : MCQ
Question ID : 630680270021
Option 1 ID : 6306801049335
Option 2 ID : 6306801049338
Option 3 ID : 6306801049336
Option 4 1D : 6306801049337
Status : Answered
Chosen Option : 4
Marks : 2
Q.25 WRATN SO (2021) fohelt arwimed smaifoia dheft SEa?
Ans f 1.16
X 217
X 3.15
X422
Question Type : MCQ
Question ID : 630680275794
Option 11D : 6306801071690
Option 2 ID : 6306801071688
Option 31D : 6306801071689
Option 4 1D : 6306801071687
Status : Answered
Chosen Option : 2
Marks : 0

Section : General Intelligence




Q.1 A, B 3rfoy C ar <fi=r dtear orgsh#t 5 a1¥id, 8 dTia 3MfoY 12 d1¥id ek eTehl W= 2AehdTd. SR T

Ans

e Tehra A5t TSI e, @R STehl WRUGTATS! ARTOTRT des fahet arder?

x 1. 3%3]_‘1:[
X2 4%?"?
x 3. ngﬂ_ﬂ
wr 2%@

Question Type :
Question ID :

Option 1 ID

Option 3 ID
Option 4 ID

McCQ
630680279414

: 6306801085925
Option2 D :

6306801085924

: 6306801085923
: 6306801085926
Status:
Chosen Option :
Marks :

Answered
1
0

Q.2 a1y Rewar Hardie sieR-ayg Hufdd sigd, <14 UahR Hefdd HeR-THg ¥ §9

Ans

A=

GD-EH-IF

2 1.MI-KN-0P
" 2. MJ-KN-OL
X 3.MI-KN-PI
X 4.MJ-KO-PI

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :

Option 4 ID
Status

Chosen Option :
Marks :

McQ

630680257446
630680999690
630680999689
630680999687

: 630680999688
: Answered

2
2




Q.3 SUSi JUIHTATRATER TR SFaT RaeaT ATfeiehd ? =41 SIRft i 31Tt UTf@st?

JKH LMJ NOL PQN ?
Ans X 1.QRO

« 2. RSP

% 3.sTQ
X 4.STU

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680271413
6306801054724
6306801054727
6306801054725
6306801054726
Answered

2

2

4 SRx+1 =3 IR, W2 + L TN ez

Ans 1.7
X 29
X< 3.6
< 4.8

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680277184
6306801077211
6306801077209
6306801077212
6306801077210
Answered

3

0

Q.5 a1 usR Reear ST siaR-9ig Hufdd siigd, e UehR Halfdd S1eR-Tg e 99

A=
FC-GI-LH
Ans X 1.1F-JL-0OM

X 2.SP-TU-YW
& 3.5P-TV-W
X 4.IF-JL-ON

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680257448
630680999698
630680999696
630680999697
630680999695
Answered

3

2




Q.6 @i Arforeha ustRgrn (?) SIrft ada siaft T Rewar vafaiga Fasr.

16,31, 46, 61, 76, ?
Ans X 1.86

X 2.84
% 3.9
o 4.91

Question Type : MCQ
Question ID : 630680271176
Option 11D : 6306801053777
Option 2 ID : 6306801053776
Option 31D : 6306801053778

Option 4 1D : 6306801053779
Status : Answered
Chosen Option : 4
Marks : 2
Q.7 Ut A Tarht g fohwer 29,000 ong. ar fhweftear 20% e feht enfor Far faa 10% 3
Ans X 1.37,620
< 2.38,032
/X 3.38,064
W 4.37,920
Question Type : MCQ
Question ID : 630680277308
Option 11D : 6306801077681
Option 2 1D : 6306801077683
Option 31D : 6306801077684
Option 4 1D : 6306801077682
Status : Answered
Chosen Option : 4
Marks : 2
Q.8 8 m 54 cm disi=aT RfsHe 1y fad a9 it sraeet 7 goe &t et U qehsardt
Hrezmedie it forelt amg?
Ans X 1.1.32m
X 2.1.02m
& 3.1.22m
X 4.112m
Question Type : MCQ
Question ID : 630680277200
Option 11D : 6306801077276
Option 2 ID : 6306801077275
Option 31D : 6306801077273
Option 4 ID : 6306801077274
Status : Answered
Chosen Option: 3
Marks : 2




Q.9 dl=am

13-12+4x2.

Ans 1.7
X 2.8
3.9
X 4.6

Question Type :

Question ID :

Option 11D :

Option2 1D :

Option 31D :

Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680277162
6306801077122
6306801077123
6306801077124
6306801077121
Answered

1

2

Q.10 10 FAdterori=ft TRIEH 46 2. FaR Fara 31t Y, 142 & Fréteror g 42 o ar=a A, @R g

TRIT M.
Ans X 1.65
X 2.54
" 3.56
X 4.45
Question Type : MCQ
Question ID : 630680277213
Option 1 ID : 6306801077326
Option 2 ID : 6306801077327
Option 31D : 6306801077325
Option 41D : 6306801077328
Status : Answered
Chosen Option: 3
Marks : 2
Q.11 31&R for g @relie Arfordar ey e Sfor usma 3w arn. Aift dhae sredieg
IoTdiehe HRIeAT= TR,
EA)FA@S&ZD%AY#GC*MB$RQ+E (I59)
SR Alfciched 94 &R TS, AR Wit ieTteh! ThivTd ISTAT EIhIURGH ATad S 8?
Ans X 1.%
2.8
X 3. #
K40
Question Type : MCQ
Question ID : 630680257426
Option 11D : 630680999607
Option 2 ID : 630680999608
Option 31D : 630680999610
Option 4 ID : 630680999609
Status : Answered
Chosen Option : 2
Marks : 2




Q.12 3if= sridierg 211,000 Tad) Tarpd atffer 10% &=, aTftfeh MVMYHR Tshdle ST Heils
Sefl. Td Ueharh! WRUGTHTST 2 guf-ar siffas wReelt ggur wand .

Ans X 1.312,890

X 2.%11,890
25 3.312,980
w# 4.313310
Question Type : MCQ
Question ID : 630680277363
Option 11D : 6306801077903
Option 2 1D : 6306801077901
Option 31D : 6306801077902
Option 4 1D : 6306801077904
Status : Answered
Chosen Option : 4
Marks : 2
Q.13 R frum snfor frseref wressiigden ara. furidie Arfgdt am=d: F1a axiden St
Seae ad, o T g, 3 T e Rewuith! srivran/a s e fremift adhera
3R/ A 3.
faem:
o e @ e T,
FAUTATE! T BT & TR
fArsentf:
(1) FivraTEt ge &1 fawTR g
(Il) et ge @ fasmd smea.
Ans X 1. P (1) Sfor (1) St aeheia s,
X 2. %ae e (11) deheT g
w 3. Forsanel (1) feba (11) Trehl Qepgt cieheret e,
X 4. Faes s (1) dehdiTa 3mg
Question Type : MCQ
Question ID : 630680276934
Option 11D : 6306801076232
Option 2 1D : 6306801076230
Option 31D : 6306801076231
Option 41D : 6306801076229
Status : Answered
Chosen Option: 3
Marks : 2




Q.14 DU 66 &T HY 71 Og Qe fafe a2 dfda engd. carawmmot, KN 74 g1 OR 79 2ft ddifad eng.

@refierdehi Fiure BS 28 oft dafda smg?

Ans X 1.FV33
X 2.6V30
o 3.FW 33
X 4.HU 32

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680273872
6306801064007
6306801064010
6306801064009
6306801064008
Answered

3

2

Q.15 TRSBATSIR arffer 11% = 2,000 =t TRy ¥2,330 gah! gIoaraTd! ANTuTRT shreradt mner?

Ans X 1.1.8a%
X 2298
X 3ad
W4 15Ty

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID

Status

Chosen Option :

Marks :

McQ
630680277337
6306801077799
6306801077800
6306801077797

: 6306801077798
: Answered

4
2

Q.16 A, B 311fOY C g Ueh i 4 fawiia yuf sedrd. SR &g STt A g1 Yehear 8 Rawia enfor B

BT Yehea 12 Raid quf o= 2rehdl, @R C 1 &1 Sh1HTH Yol Shuarard! fohet des ante?

Ans 1. 241a9
X 2.28fRag
X 3.20 g
X 4.18 feaw

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 ID
Option 4 1D :

Status

Chosen Option :

Marks :

McQ
630680279398
6306801085861
6306801085862

: 6306801085860

6306801085859

: Answered

3
0




Q.17 Susht quiaTaTsRATER SNeiRe sraiear Retar aifeehd ? =1 SInft &1 oiet uTfgst?

Ans

QPR NMO KJL HGI ?
% 1.EDG

W 2. EDF
2 3.CBD
7 4.CBE

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680271415
6306801054734
6306801054735
6306801054733
6306801054732
Answered

2

2

Q.18 T FeTr 6 km/h AT UTad ST, 38 Hier SIS HUAIT Yehl TRHATHR SATHIad UTad Gh

uf Bt ARTATHTS TeT fohelt ehg ARTeAIA?

Ans X 1.712
X 2612
/< 3.50.1
" 4.91.2
Question Type : MCQ
Question ID : 630680279359
Option 11D : 6306801085705
Option 2 ID : 6306801085704
Option 3 ID : 6306801085703
Option 4 ID : 6306801085706
Status : Answered
Chosen Option : 4
Marks : 2
Q.19 @it Fiferha wsifRvgran (?) Seft @ siret ufgsi?
100, 113, 139, ?, 230, 295
Ans X 1.152
X 2.165
X 3.191
w4178
Question Type : MCQ
Question ID : 630680273921
Option 11D : 6306801064203
Option 2 ID : 6306801064204
Option 3 ID : 6306801064206
Option 4 1D : 6306801064205
Status : Answered
Chosen Option : 4
Marks : 2




Q.20 Qeh faenies fashar 3225 1 231 @RET hedl. AT aRehs &= ¥15 IR, df 23 2300 fehmefien

fareral. forRenies fashaar=ht AorT=h caharst fardt ama?
% 1.50%

% 2.10%
% 3.52%
o 4.25%

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680277305
6306801077671
6306801077669
6306801077672
6306801077670
Answered

4

2

Q.21 Uk &1 IvRehgH afauT 2R STrd oimg. ot = 3219 2 km/h and 4 km/h 39 arere see
ST SATFOT AYR AT e 9 Vehaid HATIOT 10 Tehaid SNTig STd. SR 1 @ielt x Hiex o d«,

R x T g e
Ans " 1.50
X 2.70
% 3.90
X 4.30
Question Type : MCQ
Question ID : 630680279370
Option 11D : 6306801085749
Option 2 ID : 6306801085748
Option 3 ID : 6306801085747
Option 4 ID : 6306801085750
Status : Answered
Chosen Option: 3
Marks : 0
Q.22 SR ‘P’ UM '+, ‘Q FUTS ‘-, ‘R’ FgUISt ‘X’ IfOY 'S’ TgUTSt ‘<’ 31, 7R @iefiet Fftepeoma
usifRgran (?) st @ ade?
8P69S23Q2R5="?
Ans X 1.2
X 2.0
7 3.3
W 41
Question Type : MCQ
Question ID : 630680271197
Option 11D : 6306801053862
Option 2 ID : 6306801053860
Option 31D : 6306801053863
Option 4 ID : 6306801053861
Status : Answered
Chosen Option : 4
Marks : 2




Q.23 @refierd<ht i sreR-Tgimed e RAfe wruwt smg onfoy e @i G e a4aR gl @

TET T THUTRT 3{&R-TIE HIUET 3MT8?
Ans X 1.LKN
< 2.BAD
X 3.UTW
o 4. FEG
Question Type : MCQ
Question ID : 630680271384
Option 11D : 6306801054611
Option 21D : 6306801054609
Option 31D : 6306801054608
Option 4 ID : 6306801054610
Status : Answered
Chosen Option : 4
Marks : 2
Q.24 @< fRum snfor sy wargden aran. Rl ™ s smaa: F1a auwisft e aea
31t A < T ega o TR E TR g, Rt rerufaht iorar/a Ao
e Rrumish adheTa smé/smad § TreTer svar IR
frum: ad fivre, AR STRd. Yeahel ARTHTET, ShelaR ATEl. Thet e, Rig 8.
frenf (1): wret armR, Rig oy T,
st (11): gt Sivret, @y oI ASaTa.
Ans X 1. TR | onfor I 8 St Iy s
X 2. % sy || O oTR.
o 3. Teh (ST | 4 3MTg.
25 4. fasad | fohar fsend || it Uepgt T ATg.
Question Type : MCQ
Question ID : 630680271405
Option 11D : 6306801054694
Option 2 ID : 6306801054693
Option 31D : 6306801054692
Option 4 ID : 6306801054695
Status : Answered
Chosen Option : 1
Marks : 0




Q.25 3AER-TE=AT IR Siteal Raean engd, suidhi fasfined e fRAfve grend sng snfor g St
3mg. oft e sreRTe-SiE sitear.

Ans X 1.GI-MO
X 2.MO - SU
X 3.CE-IK
W 4. 1K~ LQ

Option 4 ID
Status

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

: 6306801078678

. Answered

Chosen Option :

Marks :

McQ
630680277557
6306801078680
6306801078679
6306801078677

4
2




